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B —o — ¥

25

2.2.1.4

2.2.1.5 2.2.1.5



2.2.1.5

2.2.1.1~2.2.1.5

S —
F ——
F _—
T _
g —
W _
WNA —
LTF ——
LF ——
LT —
IS ——
LW —
LWNA —
¢ —
G —

2.2.2
2.2.2.1 300mm 25mm 450mm 25mm
1966



3
3.1.1
3.1.1.1 123
1
3.1.1.2
3.1.1.3 1 3.1.1.3
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3.3.2.

3.3.
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7.1 3.1.1.3

.7.2 1 12001 1 1
.7.3

.7.4 1 30min

W W W W W
W W W W W

8§ — 10



4.1.
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5.4.3.1 5.42.1 5.4.235.4253 5.4.2.7
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—
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1.6m

) 1SO 3254 -
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6.3.1.1

Sm
6.3.1.2
/ARPA 6.3.1.3
6.3.1.4

6.3.1.7

O 00 9 N Lt A W N

6.3.1.5 6.3.1.6

e e e e
O 00 9 O Lt A W N = O

6.3.1.3 1 X
1 ARPA ARPA

6.3.1.4 GPS
C GPsS
6.3.1.5

6.3.1.6

6.3.1.7

8§ — 24



6.3.

6.3.1.

6.3.1.
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6.4.2.6
6.4.
6.4.3.1
6.4.3.2
1

2

3

4

5

6

7

8

9
6.4.
6.4.4.1
6.4.4.2
6.4.4.3
6.4.4.4
6.4.4.5
6.4.4.6 30s
6.4.4.7
6.4.4.8
6.4.4.9
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6.4.5
6.4.5.1
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6.4.5.3
6.4.
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~N 99
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6.4.7.
6.4.7.9 @
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3
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7.1.2.1 0.4L 2 2 3

2
—
[\

. 0.075 L 2 2 3 0.5mm
7.1.2.3 0.25L 7.1.2.1

7.1.2.4
7.1.2.5 0.4L
60m
2 60m 2 2 3
0.5mm
7.1.2.6 0.075 L 7.1.2.2

2m 7.1.2.5 1mm

~
—
\S}
\S}
V)
(@)
g

2 2 4 0.5mm
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9 9 9=
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2mm

N
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7.1.4.3

25%
7.1.4.4
7.1.4.5
7.1.4.6

7.1.4.7
7.1.4.8
10%

7.1.5
7.1.5.1

1.5m

0.25 L 2 2 15
2 2 7
2 2 7 10%
2 2 8
B/3 B
2 2 8 10%
2 2 12
t W
t =8+0.1L mm
W = 16sl? em’
m
m
7.1.2.2 1mm
7.1.2.
600mm
300mm
2 20 8mm
2 19
0.8m
L <50m Smm L >50m 6mm
7.1.7.2 2mm
2 2 19
N 7.1.8.1 N 2



7.1.8.1 17mm
1.5
12.5m
7.1.8.2 1
7.1.8.1
N
mm
kg m CCSAMI | CCSAM2 m kN
1 50 60 2 120 192.5 12.5 2 60 34
2 60 70 2 140 192.5 12.5 2 80 34
3 70 80 2 160 220 14 12.5 2 100 37
4 80 % 2 180 220 14 2.5 2 100 37
5 90 100 2 210 220 16 14 2 110 39
6 100 110 2 240 220 16 14 2 110 39
7 110 120 2 270 247.5 17.5 16 2 110 44
8 120 130 2 300 247.5 17.5 16 2 110 44
9 130 140 2 340 275 19 17.5 2 120 49
10 140 150 2 390 275 19 17.5 2 120 49
11 150 175 2 480 275 2 19 2 120 54
12 175 205 2 570 302.5 24 20.5 2 120 59
13 205 240 2 660 302.5 26 2 2 120 64
14 240 280 2 780 330 28 24 3 120 69
15 280 320 2 900 357.5 30 26 3 140 74
16 320 360 2 1020 357.5 32 28 3 140 78
17 360 400 2 1140 385 34 30 3 140 88
18 400 450 2 1290 385 36 32 3 140 98
19 450 500 2 1440 412.5 38 34 3 140 108
20 500 550 2 1590 412.5 40 34 4 160 123
21 550 600 2 1740 440 42 36 4 160 132
2 600 660 2 1920 440 44 38 4 160 147
23 660 720 2 2100 440 46 40 4 160 157
7.1.9
7.1.9.1
7.1.9.2
7.1.9.3

31



1.1
7.2.1.2
2.1 3 1 1.2.7.1
2.3
2.3.1
1
2.3.2 3 3 3.2.5.2
.2.3.3
7.2.3.4 3 3 3.3.3.1
7.2.3.5 3 3 3.4.8.1
0.1m’ 45m 0.05m’
5
4
2.4.1 3 3 3.10.4.1 30m
38mm
7.2.4.2 3 3 3.10.4.2 3.10.5.1
38mm
2.
2.5.1 45m
450mm
7.2.5.2 45m
1.7m
2.6.1 150mm
2.7
2.7.1 3 13
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2 8.2.2.1
8.2.2.1
kN kN
SWL <400 SWL > 400 SWL <400 SWL > 400
3x SWL
3x SWL 1.5%x SWL
2x SWL 1.5x SWL
3x SWL
2.5x SWL
2% SWL SWL + 400 1.5x SWL SWL +200
@ 315N/mm?
(@)
@  SWL kN
8.2.2.2 1
3
1 95%
2 1
3 1 3
8.2.2.3 8§.2.2.3
8.2.3
8.2.3.1
1 50 50 50
1.5
50 50 50 1
2
8§.2.3.2 8.2.3.11
1 1.5x SWL SWL <250 kN
2 SWL + 125 SWL =250 kN
8.2.3.3 1 2
8.2.3.4 8.2.3.1 2
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|
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8.3.1.2
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Il N/mm’
= 0.40,
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8.3.4.3 40’

5 20
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25mm
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40mm
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20’ 40’ 1/2
8.4.7
20’ 20’
5 220 1 40 20’
40’ 20’ 120t
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X2
L m
3 a
a . = 3.75e-0-003L /<2
L—— m
4 a 3m/s
8.4.3
8.4.3.1 F,
Zo .
F, =9.81G 1+0.00145L + 4. 18T72 sing,, + (Q kN
G—— t
(T ° 8.4.2.11
Z,— 8.4.1.3 0]
T, — s 8.4.2.12
Q = gA kN q g = 1.12kPa
qg=0A4 m’
8.4.3.2 F,
F,=9.81G61+0.1a kN
GC—— 8.4.3.1
a 8.4.2.2
8.4.3.3 F,
F, =9.81G 1.166 + 16.128f sing,, kN
Z, G—— 8.4.3.1
¢ L—— 8.4.2.13
8.4.4
8.4.4.1
1 F, x ]
H
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2 F.
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3
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8.4.4.2 3
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b
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2V
1
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y
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Vi= 2 N
8.4.3.2
X l
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L= N
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8 8
8.4.4.2
1 2 3
Fis+ F, + Fy Fi+ F, Fs
R;
V. +B hy+ hy+ hy + V.
3ty Mmoo h V3+%h3+h2+V2+ v
3
P; +% hy + hy +V1+%h1 F, Vs + s
D D Thz
V. —B hy+ h,+ hy + V.
} b : ! : V3—%h3+h2 + V, - P
- h h l V ﬂh V}‘T}h3
P A 2+ =™ &h
b 2
g 0.55 Hy+ H, + H, 0.55 Hy + H, 0.55H,
Pi<0
8.4.5
8.4.5.1 8.2.2.1
8.4.5.2 8.4.5.2 2 2
A T T 8.4.7.2 2
%HI + H, - %‘pcosza
T = 1E kN
TCCcosza +1
H, H, 8.4.4.11
l
a 8.4.5.2
E—— 10 000KN/cm?
4000kN/ cm? 1 2 14 000KN/ cm?
2 3 17 500kN/cm? 3
4 19 000kN/cm?
A— cm?
sm— mm
C,— 8.4.5.2
C. mm/kN 8.4.5.2
m
2.438 0.275 0.061 0.168
2.591 0.291 0.066 0.178

8§ — 42



-
I
[
j—l—a:rccﬂz
1
_.f
!
/
/
8.4.5.2 2
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8.4.6.1
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Q3:hi1H4 hl—Z4 +H5 hl—ZS +hi2 H1Z1+H2Z2+H3Z3 kN
05 = hi HoZ, + HsZs kN
1
H, H, Hy H, H;s 8.4.4.11
0 n n 4
4 Qi n
Q;:n =Q; n-0.015n-4"7
8.4.6.2
8.4.6.2 ij ok Qi Qi O
Q; O O

.
Q.(Cy + kC,) + (kQ; + kQ;)C. + 6, = C. (Hyo1 + Hypo + Hys + Hig) | o+ EHr r—"5

r=1
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1
2
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8.4.7.2 8.4.7.2 1SO 1
1
150kN
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9.1.1
9.1.1.1
9.1.1.2

9.1.2
9.1.2.1 1 3

(O, I VS I )

9.1.2.2

O

.1.3
.1.3.1 IMO MSC/Circ. 895

O

9.1.3.2 IMO MSC 63/23/Add 1 20
3 1989
9.1.3.3

2.1

20101
.2.1.2
.2.1.3

O © © ©

O

.2.1.4 2 2 20
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9.2.2.2

9.2.2.1 1.15
9.2.2.3 0.4 L 9.2.2.1
1.18 0.4 L 1.00
9.2.3
9.2.3.1
(1)
©) Py, =1.5P P
0.30m x 0.30m
Py =1.75P
)
©) 0.5 kN/m?
(2)
)
&)
® 2 kN/n’
@
0.5
9.2.3.2
9.2.3.3 G
Och
- 9.2.3.3
2 T = o /@
0.9q,,
3 Och
0.8q,,
o N/mm’ 9.2.3.3
235 210
K K
210 188
K K
K— 2 1 5
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N/mm?

aCT

9.2.3.4 9.2.3.4

9.2.3.4

0.4L 0.7

1.0

9.2.3.5 2 2 2.20.9

9.3.1
9.3.1.1 IMO 20
A.855 20 —= "
9.3.1.2
1
)

Im A—O0

2 45kg
18kg o,

©e e

6L/min m?
Smin D
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10

10.1.1
10.1.1.1 “ Carriage of refrigerated

containers in X X hold s ”

10.1.2
10.1.2.1 1 3
1

A L B~ W N

10.2.1
10.2.1.1
Im
10.2.1.2
10.2.1.3

10.2.2
10.2.2.1
10.2.2.2

10.2.2.3
10.2.2.4

2.5m
10.2.2.5
10.2.2.6

10.2.3
10.2.3.1 250 mm
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10.2.3.2
10.3.1
10.3.1.1
10.3.1.2
10.3.1.3
10.3.2
10.3.2.1

1

2
10.3.2.2
10.3.2.3
10.3.3
10.3.3.1

1

2
10.3.3.2
10.3.4
10.3.3.1

35C
45C

10.3.2

3
70% 32C
20’ 7.5kW
40’ 11.0kW

20’ 3100m®/h
40’ 4500m°/h

0.7~0.8
20/ 1.5kW
40’ 2. 1kW
20’ 460m®/h
40’ 700m*/h
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10.3.3

10.3.
10.3.

W W
—

10.3.
10.3.

|9 o)
—

12m

10.3.
10.3.

N
—

10.4.
10.4.

—_ =
—_

10.4.
10.4.2.

[\SIN ]
—_

10.4.2.2

10.4.2.3 20’ 40
11kW 0.6
20’ 7.5kW

10.4.
10.4.

W W
—_

10.4.3.2
10.4.3.3

10.4.3.3

20 0.8
20 0.65

10.4.3.4 ISO 1496 -2

10.4.4
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8 10

10.4.4.1
NULL DEFROST HEAT

10.4.4.2
10.4.4.3

NO UNIT

FULL COLD

LOW COLD
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1.1.2 3 13.1.11

1.2.2 3 13.1.11

1.4.2
Semi — Submersible Vessel

1.4.3

1.4.4



.10
.10.1
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